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Base your answers on what you studied in | sLo¥1530l0 8 Ccw)s Lo sgid -2

Biology: P AGY) W e o

1- Choose one question only (A) or (B) and | g= (<) 5i (1) o3t dosm i pisnt -
write its scientific term. Al yins O palall pellacaalt S5

A- A part of the skeletal bone which connects | ., ,, it ataatt ysgtt sty uai (1)
the two lower limbs to verteberal column. (6550 3 el {yialiad (i Lal

B- The distance between each two successive e Cyudas JS oo Ha e | ()

(Z) lines in the middle of light band. aalie b Bagasadl (Z)

Aot Aakaiald!

2- Choose one question only (A) or (B) and | :(<) ol (1) (sl audt iyt -

mention what is meant by: 2 3gumiall Lo
A- Receptors in plants. LA L3 &St (1)
B- Neutralization. It (o)

v/ U.JLIJI JoaJl - d=salpoldalinl) A A
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3- Choose one question only (A) or (B) and
write its position and its function:

A- Umbilical cord in human.

B- The two ovaries in female of human.

(o ¥ AR slen 31— daladl g3l Al yud | alad | algs Lol

(&) 91 (1) ot 13t s 55 ¥
1A ds g OlSe ,SH @D

Ol ¥ B (6 Jmd (1)
Ol ¥ T B (daeatl ()

3

Al s gt
Function

OHLS o
position

4- Choose the right answer only of the

following:

The spermatides changes into sperms at the

stage of........

duplication phase.

growth phase.

®O06

maturation phase.

Metamorphosis phase.

Led Jadd Aovowall dala Byl - ¢

b
Sl g ‘_,J!'i\:vja.d|ém‘d3:~:¢3
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5- Give reason: 1l Let Jle -0
Confirmative binding is certain between Baliaadt plus ¥ (po doLG )M yiay

antibodies and antigens. JAS e el ¥

6- What happens when: e Gadomy 13Le -1
Absence of DNA helicase enzyme from LMS g0 (po gl @ajol Lled
the nucleus of Euokaryotes. PV (FA TIPS

7- Study the following figure which shows the | cuS 5 md s gt L JSEI sl -V
structure of a sex cell (gamete) then answer: il Lae e @8 s A5

First : Whathappens if the part number (2) | , Sl GLE 3] Gty 13La <31
1s absent? AR ’ )
(Y) o3y

Second: Mention the importance of the . ]
(V) ) S i deal Le :Lals

structure number (1)

v/ U.JLIJI JoaJl - d=salpol)dulinl) ad A nj



YAV/Y AT Gyl aladl - AT gl (Al ¥ 230 Len ¥ - Halall &y gl Gl yord aLa | B3l (ylowial

8- Compare between the effect of FSH and + o JS G (LB -A
LH Hormones on a human female. >0 o oo LH  FSH 3 54,0
Ol ¥ 0T e Legie S

5
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9- Two parts of DNA molecules equal in | DNA daif ya (yo (p5 3o puog @3- 4
length were put in two test tubes and a | ;e cposol oo Jalall aygluie
different enzyme is added to each of them | ¢ ol sy SLas ¥ el
as shown in the figure.

ColS g alidne @ 33180 o Legin
E N /\E
5 N A N A 1
N N

Deoxyribose sugar  Single parts of DNA, its length
38405 uS 3 S between 4 - 7 nucleotides
+ Lt gto DNA (g0 33 ya0 513
Nitrogen bases 1 918 5.6 V- £ (p0
A 9,5l delgd
+
phosphate groups
Olaw sd Ole gamse
mention the name of the enzyme in each | E« E; Jsiuadt @jo¥) eul 585!
case E , E, . Explain your answer. il oo Wl S 0
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10- Choose only one question (A) or (B) | (<) gl (1) (ot sudt dmi st -\

and define it: L Cayiyls 4O

. . . . zwmdﬁ‘u

A- Cartilaginous joints. by ailf Lslaet! (1)

B- Ankle. g3 pall (‘?’)
11- Choose the right answer only: 1 dadl Asveall Aol ¥ ) -\ )

The immune receptors CD4 are found on | (e aclied! OMGiwall w93

the surface of:... N\ LSk e e CD4 g2t

@ B- lymphocytes. (B) aaLa @
(®  Macrophages. P IRRIRN @)
@ Natural killer cells. Jacdal 2t5Lar @
@ T helper cells (Tg). TH suctuat aot @

12- Explain the following: rily Lo puud -\ Y
The corpus luteum degenerates at the. 01 56l g8 ¥ sy
fourth month of pregnancy and abortion ' o .
will not occure. 0Bl ¥l Gy ¥ Al oy desntl

v/ U.JLIJI JoaJl - d=salpoldalinl) A A i
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13- What happens when: e Codomy 13Le -\ Y
- Absence of DNA polymerase enzyme | 31s3 (oo DNA 5 ,els @l ol
from the cell nucleus. A

14- Write the scientific term: e JIA elal! pllaiael! S3) =)\ £
- A lymphoid gland located in the upper left A 3y Lealt

side of abdominal cavity. Colodl b s Asglied Bud
Pl 2w g daglaed

Oladt g (e (g glall pur ¥

15- Mention two examples in which gametes | (9S8 Olosgs llie ,S3I-V0
are formed as the result of mitosis Gorb e B! gliwd¥)
division.

“$r5%we pleds!
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16 - Choose only one question (A) or (B)
and compare between the role of each:

(o ¥ AR slen M1 — daladl g3l Al yud | alad | algs Lot

1 (@) 9f (1) o1 3uad | ol yi500 -\

t (38 JS 993 O (1B

A-The cell wall and the epidermis of plant | i Lsr1aes¥ iy g gttt ylamtt (1)

surface in plant immunity.

AL Aelied| 3 Ot mlawd

B- Hypersensitivity and immune cellular Sy g A pael) Aculusd! (0)

structures in plants.

2\:13.\:-..‘"2\:@\.«41‘
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17- Show by a labelled drowing only the | adey dadd @u b moy -\V

structure of a DNA molecule. DNA 50550 S 53 SBL
18- Mention the functions of thyroxin 09t Laills g ,S31 =\ A
hormone. SCyS g 55

10
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19- Choose only one question(A) or (B) and | (<) of (1) ottt dsi yist =14
write its scientific term. e gl | | LS
s g IS Al piiio sgja (1)
\ 3191 LY o 23 My g (2
B- DNA wounded around clusters of histone Sl Sl gl Sl o8
proteins. (e Ole gams Jg> ails DNA (o)
<40 gt Sl g ,-d!

A- A small circular molecule of DNA found
in cytoplasm of prokaryotes.

20- Choose only one question (A) or (B) | (<) o (1) ot guudt s f pisnf =¥
d th lain its i t . . .

an en.exp a'm its importance  ALiadl gy @

A- TEe gleno;dlcavuy oY) gt (1)
B- The acetabulum. i s g ()
11
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21- Choose only one question (A) or (B) 1@ (20) 9 (1) e gaudt i 50 =YY
and answer it: e

Give reason for: .
i gy ¥ o SLSC (1)
A- Spirogyra algae reprpduces sexual.y and | ¢ yy rny i ¥y Gousia
asexually but there is no alternation of

generation in it’s life cycle Syalls dilis 393 B s

i ) .\ Il ¥ Cdlas
B- Zygospore in spirogyra algae divides by . '
meiosis. Clombs B g s 31 iy ()

RYSYYE RRVE Tyveen. 4

22- Show how to obtain a diploid individual | e Jgaastt (San aS mng- YY
(2N) without pollenation or fertilization. )
diuall Acgemal! LS 5,0

olas | ol mdli s (OY)

12
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23- Choose the right answer only from the | &aza dooualt Al ¥ i) -YY

following: o5 Len

Jied AN Aadall Gaigmtt (4e
freen OO W1 B oW eland | das

From the natural barriers which represent the
first line of defense is: .............

@ acidic gastric Juices Jieaolmt| Buaal| Ol a0 @
@ histamine. O licagl | @
@ interleukines. LS g S0 @
@ lymphokines. LS gaedl @

24- Mention two uses only of the human | asied! aa158 (pe (clcs) S50 =Y ¢
nome. :
genome e

13
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25- The following sequence shows the PP P JCSP- PR {lvi [ M i {0 4
arrangement of nitrogenous bases on . . K
one strand of DNA. paC et ekt ol
DNA oy pi

/3 . TAC CCC GAT GGC CCG TTA ACT...5

First : Write the sequence of nucleotides on. | 2 &ladgdSgddl aalis oS! Y g
mRNA transecribed from it. -4is - guiad | M.RNA 255>

Second : Write the name of enzyme which | pasuusdt @ ¥ eul cash:Lals
used 1n this case.

.Z\Jl:-..ﬂo.'.\.m‘_,b

26- Show by a labelled diagram only the | clilad) LlS pe dagd gu JL py- Y1
structure of a thoracic vertibrae in saall 8 T gl Fualac 3,38 (o3
verteberal column in man. \

14
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27- Study the following figure and answer
First : Mention the name of this figure.

Second : Mention the role played by the
organell no. (3)

(1) 3)

:é

Nucleus

28- Choose only one question (A) or (B)
and answer it.

Give reason.

A- Surgical sterlization in male and female
of human is not a temporary mean of
contraception.

B- The vagina secretes mucus and has skin
folds.

Lo i | @ ¢t L Y (puyal =YV

| )

ISt dde Joo Le LS 1< ¥ 1
Lé'f.\J‘)j..\J‘ Lo :Lals

(2)

@l 4y pgd
A(Y) pdy

63 () 9 (1) ot gt i st - YA

‘e

o2 o>t @aalt! ydas ¥ (1)
il g8t (po OLudFT Sily LS5
RIPCR {FEN g wt- L WX |

LeS Loline Sk gl t 3 ()
Al OLAS e (g giou

15
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29- Choose the right answer only from the | &z dmouall Al Zin) -¥4
following: ol Les
- From the cells which produced and o AN _—
matured within bone marrow are: lalal i 1 LM (e
...... o pliaat! tl:u ‘;ﬂ Lgaiyg
@ T-lymphocyte ( T) CTHD sae st 2t Lsts @
@ B-lymphocytes. .(B) zata Lsa @
(©  Macrophages. P WREITRF I &
@ T eytotoxic (Te) N O ERMIERTIIRSIN ©)
30- What happens if: e Cadomy 13le ¥

Unability of the blood to carry euough S Y1 43 acdl Aellaiul ade
oxyge to the muscle. 229 (pdIS) Sty Ao pudls
Agila L | Ainalt

31- What are the results of: 1o A yiad ! LU o2 Le - Y

One of the two male nucleii (N) fused with | 02,531 (6158 G| zlets!
the embryo sac nucleii (2N) within embryo | acag 3 rdod! St S31gi
sac in flower ovule .

By 33|

16
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32- Write the scientific term for the e J1A ettt pllaaal| COST - Y
following sentence:

A type of white blood cells which
destroys the strange bodies and changes \
to phagocytes when needed. Al g9 do yall plua Y penn

At e dceals LS

¢ AL 5 ylaalt
poai sliacdl andl LM ¢193)

33- What is the role played by growth | Oge e amb st joutl oo Lo -vY
hormone in human? SLoFI B gad

17
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34- Choose only one question (A) or (B) 1@ (@) 9 (1) ot gudt i G50 -¥¢
and answer it.

O QL8
Compare between: . 3 : [
ddally b add eliadl Houdt (1)
A- The immune role of Peyer’s patches and i glaenlt

lymphatic node.
g9e-dly (gl peliat! Hod1 (@)

B- The immune role of tonsils and tears.

18
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35- Study the following figure which o e (GO LN IS (3! YO
represents a type of RNA then answer ‘ AP A0
the following. ¢t les cirl @2 RNA BLAG 150
(4) (1) 3)
\ I
TG ﬁ AAAAAA

A

\
s (2) &
First : Write the labels (1) and (2) (1) (1) plES¥ adde i Lo LS1

B0 S 9.0 I | Gty 0B s LOLS

DNA day ,a e g5 Jous

Has Els any /5 4—/3
TEUD ;ed . g LoS Ll (G g 50!

Second : a nucleotide may replaced another
on a DNA strand '3—/5 but protien is
not changed Explain this statement

36- Explain the role of each : JS 1y pgai s Houdl o Le- ¥
The prostate gland and the two vas Oeleghly Bliwgpdt 8us (e
deferenses in a human male. SOLua YT HS5 B (pdBL)

19
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37- Choose only one question (A) or (B) | (o) ol (1) outtoudt dsi S5t -¥Y
and write its scientific term: Jhat ‘ IS
A- A hormone responsible for increasing the e

thickness of endometrium.
B- The transfering of pollen grains from the ow 23l e dony O9aa (1)

anther of a flower to the stigma of another e wlay
gl;evgie;s on another plant but of the same | ., oo Pl Gae JLESH ()

e §p318,0) mus 118 50)
9 udl (g 3T 0L

38- What happens if: i Sidomy 130e YA
An experimental rats are injected by a LyfSs o daddsny 01608 (a
mixture of heat killed pnumonia virulent | aiwsdt (S) @951  lgdd
bacteria (S) with living non virulent 2 (R) Ly gos Lyl p AT gzl
bacteria (R) LA | Acal

39- What are the results of: role A yiet EaLE Lo =14

Absence of the tube nucleus from the pollen | .zlalfans (ro 0055 Gl

grain.

20
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40- Choose the right answer only from the | &aza dooualt Al i) -+
following ol Las
The infective stage during the life cycle

; . . . 3393 A OHLLAS caagld! | i
of plasmodium malaria to man is found in | 22" ¢" 92" ¢ sslell e s
....... ‘;A ‘.‘.’)M‘?ﬁ{}‘j» 5‘1‘}

(@)  Female mosquito stomach. syt giisane (1)
@ Male mosquito stomach. i gad S3Eae @
@ Saliva of male mosquito. s gad) ,S3 et @
(@  Saliva of female mosquito. asgadionicls  (3)
41- What happens if the measles virus +13) Srdons 13Le - €\

attacked the man for a second time? 5 yall SLd N ety pid ol

Saola

21
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42- Compare between the following: 1ol Lae JS Gy y1B - £ Y
- Identical twins and fraternal twins i Bladl w3151y ASLaiall il gl

according to their formation.
S (9295 Aas by S (40

Franternal twins Identical twins
ALt @i gt AslaTiad) @i gt

22
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43- Choose only one question (A) or (B) | (o) i (i) utpudt dmi st £ ¥
and draw a complete labelled diagram s § . {
robled
only for it: ;‘-' ! QLSyMMfJQ @4;,
. Al £ Ae¥! Ayl P ES (PR LN
A- Steps of formation of pollen grain inside Al e g | A5l L (1)
the anther starting with spore mother cell. | T4 2ae (2555 o8 iy

b rlat s (o)

B- Germinated pollen grain.

23
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44- Look at the following figure then
answer
First : Which figure (1) or (2) is in
a state of contraction and which
one is in a state of relaxation?

Second : What is the result of absence of
cholinostrase enzyme from these
parts?

(1)

(o 1 2300) slom 31— Zoladl 2 g3l Ayt aLa3) Balgds Ol

o i @l (S lial ) SIS gyl - £ ¢

1o Les

G2 (1) ¢ (V) OlSadt G 61 3
Bl 2 Legaly polan! Wl
ol

Ot 93 2330 Dl A Le Lol

Sl lial | UG 52 i

24
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45- If you have a sequence of nucleoltides | auec DNA day pi Lt IS 131 - £ 0

on one strand of DNA G gl

'3 . TACGAATTCATT.....'5

First : Explain the role of (TAC) and (ATT) | ATT ¢ TAC 5,1 595 siad :¥y]
codons on this strand during protien | u, ar s Ll sagmgell

synthesis. gt Gl oL
Second : What is the effect of restriction &hé'&iu}b;ﬁith:fdﬁ

Endonuclease enzyme on the . NOAEANL

double helices? el dstllle s

25

v/ U.JLIJI JoaJl - d=salpoldalinl) ad A






